TRANSFORMATION OF SENTENCES PART 1
Choose the correct interrogative/assertive sentence for the sentences given below.

1. Is this the kind of dress to wear to work?
i) This is not the kind of dress to wear to work.
ii) What a dress to wear to work!
ii1) This is the kind of dress we wear to work.

2. It was careless of him to leave the door unlocked.
i) Wasn't it careless of him to leave the door unlocked?
ii)) How careless of him to leave the door unlocked!
1i1) Isn’t it careless of him to leave the door unlocked?

3. Is that the way a gentleman should behave?
i) A gentleman should behave in that way.
ii) That is not the way in which a gentleman should behave.
iii) What a way for a gentleman to behave!
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. It is not possible to gather grapes from thorns.
i) Can you gather grapes from thorns?
ii) Is it possible to gather grapes from thorns?
iii) How do we gather grapes from thorns?

TRANSFORMATION OF
SENTENCES

5. Shall I ever forget that experience?
i) [ shall never forget that experience.
ii) [ shall forget that experience.
iii) [ shall ever forget that experience.
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. | never travel by train.
i) Do I ever travel by train?
ii) Do I never travel by train?
iii) Did I never travel by train?
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. They are all going to attend the church service.
i) They all are going to attend the church service, aren’t they?
ii) They are not going to attend the church service, are they?
iii) Where are they going?

8. Is Shimona taking her music lessons?
1) Shimona is taking her music lessons.
ii) Shimona was taking her music lessons.
iii) Shimona is taking her music lessons, isn’t she?

9. Is there any tea in the flask?
i) There is no tea in the flask. ii)There is any tea in the flask. ii1) There is
some tea in the flask.

10. Rahul knows swimming.

i) Does Rahul know swimming? ii) Does Rahul not know how to swim?
ii) Rahul does not know swimming, does he?




